| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
1= - - - - ~— Entries 1129 1 Entries 1129
E : : : : : ¢ | Mean 0.1019 Mean 0.2932
r Std Dev 0.3709 Std Dev 0.9753
10_1 E | _missing_inner_layers 10_1 """" P P v~ "[ missing_outer_layers
= Entries 1132 = Entries 1132
r Mean 0.1025 r Mean 0.2924
_ Std Dev 0.3714 _ Std Dev 0.9741
10 2 A i . . 10 2 —J .
F missing_inner_layers F missing_outer_layers
- . . . . . . Entries 1132 - . i . Entries 1132
107 L. sn ot [ vean 0.1025 103k : -L ... : [ mean 0.2924
E : : ' ' + |Std Dev 0.3714 E : : + |Std Dev 0.9741
E | E : |
I ' . missing_inner_layers o . . . missing_outer_layers
—4 L .§..i1.]Entries 1129 AL . ] Entries 1129
10 E . | Mean 0.1019 10 E H H . | Mean 0.2932
r Std Dev 0.3709 r Std Dev 0.9753

= IR SR S S = : : :

L S (Rl ISRt Al AT RLE LS IR (O S B AN B ISR SRR L
o'IDU 11 .......!. N IIII oDU-' II
g Ot ' . g Ot ' '

@ IR 24 L
il ERE R R R b R i 5 b S b il

0.95 : S Em 0.95 : :

0 1 2 3 4 5 6 7 8 9 10 0 5 10 15 20 25

— obal TToriginal_RECO
=== DQM_V0001_R000000001__Global mkFltNewDett RECO
[ mean hi{ = DQM_V0001"R000000001 _Global _mkFitNewDett33_RECO
s DOM V0001 R000000001_Global_mkFitNewDett04 _RECO
= 40 - - - - - —— — — — —— — Entries 1129
n N N N N N N : . | Mean 18.79
> : : . . |.Std Dev 3.645
A 35 102 s . T
2 hits
o Entries 1132
\% 30 Mean 18.79
“Trksud Dev 3.653
25 :
20
15
10 TR
5F 1
oJ_.\‘O:||||||||||||||||||||||||||||| o +uif
L il |
£ o L ElL L E e - £l Tl o
s ||||||||||||||||I|T ||||||||5||| F T
0.95L : ] 0.95L5 :
=3 -1 1 2 3 M 5 10 15 20 25 30 35 40

track n track hits

[Nofreco track vs pT |

num_reco_pT,
Entries 1234
r Mean 3.545
il Std Dev 4.782
10y T T i
E num_reco_pT
r Entries 1237
o : ' Mean 3.553
107 femeemannnes 79" " std Dev 4.794
: : : : [
B num_reco_pT,
3 B . . Entries 1237
107 i Peeees Lbean 3.553
E : td Dev 4.794
B : num_reco_pT
10_4 Eorrr frmeememeees R Entries 1234
E N N Mean 3.544
- N td Dev 4.782
-5 . H
107 e [SERRRREE AEEEEEEEE b
o10% I Ly I L ]
= r . .
¢ N B B
o [ . b
| R B B S E a2 & SRR ARREEEEEEEE
0.95 T * . + 3
10 1 10 10? lO



	Contents
	Page 1


